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Answers

1. B

2. D

3. B

4. C

5. B

6. C

7. D

8. D

9. D

10. A

11. A

12. D

Determine which letter best represents the missing fact from the fact family.

1) 90 + 2 = 92

2 + 90 = 92

92 - 90 = 2

92 - 2 = 90

A. 92 - 2 = 2

B. 92 - 2 = 90

C. 92 - 90 = 90

D. 93 - 2 = 91

2) 138 + 387 = 525

387 + 138 = 525

525 - 138 = 387

525 - 387 = 138

A. 387 - 525 = 138

B. 525 - 138 = 138

C. 139 + 387 = 526

D. 525 - 387 = 138

3) 1 + 17 = 18

17 + 1 = 18

18 - 1 = 17

18 - 17 = 1

A. 1 + 18 = 17

B. 18 - 17 = 1

C. 19 - 17 = 2

D. 17 - 18 = 1

4) 47 + 3 = 50

3 + 47 = 50

50 - 47 = 3

50 - 3 = 47

A. 3 + 50 = 47

B. 51 - 3 = 48

C. 50 - 3 = 47

D. 50 + 3 = 53

5) 240 + 369 = 609

369 + 240 = 609

609 - 240 = 369

609 - 369 = 240

A. 609 + 369 = 978

B. 609 - 369 = 240

C. 609 - 240 = 240

D. 369 + 609 = 240

6) 19 + 1 = 20

1 + 19 = 20

20 - 19 = 1

20 - 1 = 19

A. 19 + 20 = 1

B. 20 - 19 = 19

C. 20 - 1 = 19

D. 21 - 19 = 2

7) 46 + 28 = 74

28 + 46 = 74

74 - 46 = 28

74 - 28 = 46

A. 46 + 74 = 28

B. 28 + 74 = 46

C. 47 + 28 = 75

D. 74 - 28 = 46

8) 259 + 649 = 908

649 + 259 = 908

908 - 259 = 649

908 - 649 = 259

A. 908 - 649 = 649

B. 908 - 259 = 259

C. 1557 - 259 = 1298

D. 908 - 649 = 259

9) 11 + 2 = 13

2 + 11 = 13

13 - 11 = 2

13 - 2 = 11

A. 14 - 2 = 12

B. 13 + 2 = 15

C. 2 + 13 = 11

D. 13 - 2 = 11

10) 36 + 31 = 67

31 + 36 = 67

67 - 36 = 31

67 - 31 = 36

A. 67 - 31 = 36

B. 98 - 36 = 62

C. 36 + 67 = 31

D. 68 - 31 = 37

11) 943 + 43 = 986

43 + 943 = 986

986 - 943 = 43

986 - 43 = 943

A. 986 - 43 = 943

B. 944 + 43 = 987

C. 943 + 986 = 43

D. 986 - 943 = 943

12) 8 + 12 = 20

12 + 8 = 20

20 - 8 = 12

20 - 12 = 8

A. 12 - 20 = 8

B. 21 - 12 = 9

C. 9 + 12 = 21

D. 20 - 12 = 8
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